Question Bank for BACHELOR OF LIBRARY AND INFORMATION SCIENCE
(One Year Course)
Paper- VIl
COMPUTER BASICS AND APPLICATION

Question 1
CPU stands for CPU «g #jta1

Question 2
Integrated circuits introduced in 2HabT ART s 7o 27

Question 3
OCR stands for OCR «s 9zt 21 27

Question 4
Intelligence of a computer is located at sCbicsm 3 (I AT

Question 5
Speedometer of car is an example of 1%z =Acei G awh

Question 6
Linux is a fomsy @b

Question 7
In binary addition 1+1 equals to @iz cxicer ¢wea 1+1 2eer

Question 8
ASCII represents ASCII g st

Question 9
In logic gates "1" represents =& oG 1 @3 o2

Question 10
Which logic gate is known as' inverter' &= =& (56 inverter Jits #fifbe

Question 11
The language directly understood only by the computers known as (3 i1 &y ST5E3 (I S
Rl

Question 12
Flowchart is i ca

Question 13
Q-Basic released with Q-Basic 7 5 2125 2if#e 23

Question 14
In BASIC " REM " stands for BASIC @ REM «3 %i%f zcatt

Question 15
In Windows XP Status bar is at Windows XP @ Status bar «3 sz«



Question 16
MS WORD-XP can not MS WORD-XP &= it f

Question 17
CDS/ISIS is an CDS/ISIS ¢

Question 18
OPAC is a OPAC =

Question 19
In CDS/ISIS access points are stored in CDS/ISIS @ &5 7 wfer 2

Question 20
Fine calculation is maintained by which module of automation software SiCGics™ 5821 @3 (i

AT P2 ool 31 2

Question 21
Modem transforms Modem 4« =R+ 23

Question 22
Pointing device is #taf52 fEeizs @3

Question 23
RAM stands for RAM @3 st w21 2eer

Question 24
Ribbons are used in & &R &% o<t 5

Question 25
Pentium 4 is a Pentium 49s6

Question 26
Windows XP is a Windows XP &3

Question 27
ROM is ROM «=f

Question 28
FORTRAN is a FORTRAN «<f

Question 29
CDS/ISIS developed by CDS/ISIS tofk 3tz

Question 30
FDT stands for FDT 4 jcat 2t

Question 31
ALU stands for ALU «g 7jtar 21



Question 32
Integrated circuits introduced in 2FBeacGe FG 2w 5= 23

Question 33
which is not a output device @b SITH%5 [Tz 77 ?

Question 34
Intelligence of a computer is located at sCbicas i@ (FRIT AT

Question 35
Spedometer of car is an example of *IfSx ~eRGR @b

Question 36
Unix is a Unix <3

Question 37
In binary addition 1+1 equals to @iz caicer ¢vea 1+1 2eer

Question 38
ASCII is a ASCIl ¢

Question 39
In logic gates "1" represents =& oG 1 @3 o2

Question 40
Which logic operation is symboliged by + sign &= =& effeai & + oz it 3o 21

Question 41
The language directly understood only by the computers known as (i1 &y ST53 (I S

Rall

Question 42
What is a soft copy =6 3 2t

Question 43
Q-Basic released with Q-Basic = 71 22w g 23

Question 44
In BASIC " ABS " stands for BASIC @ ABS «3 %1% 3eat

Question 45
In Windows XP Status bar is at Windows XP @ Status bar «3 sz«

Question 46
MS WORD-XP can not MS WORD-XP &= it f

Question 47
CDS/ISIS is an CDS/ISIS ¢



Question 48
OPAC is OPAC ==t

Question 49
In CDS/ISIS access points are stored in CDS/ISIS @ 55 7 wfer 2

Question 50
Membership is maintained by which module of automation software STGCH FFESTR &3 (FIN

GG aFIaNg 7Ty (o T4 7

Question 51
Modem transforms Modem 4« =R+ 23

Question 52
Light pen is Light pen g

Question 53
RAM stands for RAM w3 st w21 3eer

Question 54
in railway counters which printers are mostly used ¢ SIS (T $1eeid b &R <z 2%

Question 55
Pentium 4 is a Pentium 49s6

Question 56
Android is a ugtIe 9

Question 57
ROM is ROM «=f

Question 58
Wordsrar is a Wordstar @3

Question 59
CDS/ISIS developed by CDS/ISIS tofk 3tz

Question 60
FST stands for FST @ 7in w21



